Shipan Barua

To: Habibur Rahman; 'Md.Abusieed Sobuj'

Subject: RE: ABA Group 30kVA DG

From: Alamin [mailto:m.alamin@abagroupbd.com]

Sent: Wednesday, April 28, 2021 12:23 PM

To: 'Md. Moshiur Rahman' Cc: habib@cross-world.com

Subject: RE: ABA Group 30kVA DG

Dear Moshiur Bhai,

Start work & finished it very quickly . consider this is as a work order .

NB: total tk 1 Lac (Excluding VAT & AIT).

BR//

Mohammad Al- Amin Manager - Electrical & Utility **ABA Group**.

From: Md. Moshiur Rahman [mailto:moshiur@cross-world.com]

Sent: Wednesday, April 28, 2021 11:24 AM To: 'Alamin' < m.alamin@abagroupbd.com>

Cc: habib@cross-world.com Subject: RE: ABA Group 30kVA DG

Dear Alamin bhai,

Please find our revised offer with special discount and including VAT/TAX.

Best Regards,

Md. Moshiur Rahman | CROSS WORLD POWER LTD | Asst. General Manager, Sales & Marketing | House: NE (O) 06, Road: 92, Gulshan-2, Dhaka-1212 Bangladesh | p: +880 2 5881 1858, 989 1442 | Mob: 01755 514703, | f: +880 2 5881 6205 e: moshiur@cross-world.com w: www.cross-world.com



please consider the environment before printing this email

This communication contains information which is confidential and may also be privileged. It is for the exclusive use of the intended recipient(s).

From: Md. Moshiur Rahman [mailto:moshiur@cross-world.com]

Sent: Tuesday, April 27, 2021 4:09 PM

To: 'Alamin'

Subject: FW: ABA Group 30kVA DG

Local offer of commissioning materials.

Best Regards,

Md. Moshiur Rahman | CROSS WORLD POWER LTD | Asst. General Manager, Sales & Marketing | House: NE (O) 06, Road: 92, Gulshan-2, Dhaka-1212 Bangladesh | p: +880 2 5881 1858, 989 1442 | Mob: 01755 514703, | f: +880 2 5881 6205 | e: moshiur@cross-world.com | w: www.cross-world.com



please consider the environment before printing this email

This communication contains information which is confidential and may also be privileged. It is for the exclusive use of the intended recipient(s).

From: Mizan [mailto:mizan@cross-world.com]

Sent: Tuesday, April 27, 2021 12:37 PM

To: moshiur@cross-world.com; habib@cross-world.com

Cc: 'Md. Ziaul Islam'; 'NAZMUL KARIM'; 'Abusieed Sobuj'; taz@cross-world.com; 'Naba K Mazumder'

Subject: RE: ABA Group 30kVA DG

Dear sir.

Please find the attached execution BOQ with price.

Best regards,

Md. Mizanur Rahman | CROSS WORLD POWER LTD | Engineer, Engineering Dept. | Plot 1/B, Road 90, Gulshan - 2, Dhaka 1212, Bangladesh p: +880 2 5881 1858, 989 1442 | f: +880 2 5881 5160 | m: +8801755-514864 | mizan@crossworld.com | w: www.cross-world.com



please consider the environment before printing this email

This communication contains information which is confidential and may also be privileged. It is for the exclusive use of the intended recipient(s).

From: Mizan [mailto:mizan@cross-world.com] **Sent:** Sunday, March 28, 2021 12:25 PM

To: 'moshiur@cross-world.com'; 'habib@cross-world.com'

Cc: 'Md. Ziaul Islam'; 'NAZMUL KARIM'; 'Abusieed Sobuj'; 'taz@cross-world.com'; 'Naba K Mazumder'

Subject: RE: ABA Group 30kVA DG

Dear Sir,

Kindly find the attached proposed room layout as per site visit of 1x30 kVA DG for ABA Group, Mawna with following notes.

- 1. Canopy dimension will be standard
- 2. Canopy door will be standard
- 3. Canopy Hot Air Exit will be Top Exit.

For any further queries kindly contact with us.

Best regards,

CROSS WORLD POWER LIMITED BOQ OF 1X30 kVA GENERATOR



To, VDAL Guest house ABA Group Dhaka

Offer for the supply and installation of DG commissioning materials for VDAL Guest house project.

CLIENT: ABA Group		ADDRESS- VDAL Guest house, Mawna.	DATE: 27.04.2021					
SL NO	JOB DESCRIPTION	TECHNICAL DETAILS/ BRAND	SCOPE OF SUPPLY	иом	QTY	UNIT RATE	TOTAL RATE	REMARKS
1	Electrical System:							
1.1	Power Cable (35 °C Ambient on air)	4CX16 rm NYY (DG to ATS)		Meter	11	1,053	11,587	
		4CX16 rm NYY (Load to ATS)		Meter	20	1,053	21,067	
		4CX16 rm NYY (ATS to PDB)		Meter		-	-	Done by client
1.2	Power Cable Lugs	16 rm , Material -Copper , Surface-Electro Tinned		Pcs	18	12	212	
1.3	Control cable For Sensing	4 X 1.2 rm (40/0.19 mm)Flexible Cable		Meter	25	96	2,411	
1.4	PVC Flexible pipe	2"Ø inner dia		Meter	30	70	2,089	
1.6	Saddle for PVC pipe	2"Ø		Pcs	30	8	225	
1.8	Royal Plug & Screw	1.5" length		Pack	1	183	183	
1.9	PVC Tape	Adhesive Tape 04 color (Red/Yellow/Black/Blue)		Pcs	12	31	373	
1.10	Royal Bolt	10 no.		Pcs	10	19	193	
1.11	Cable Tie	L - 8"		Pack	2	148	296	
1.12	Cable Laying Charge	4Cx16 rm NYY		Meter	31	63	1,960	
2	Generator Earthing:					-		
2.1	Earthing Boring	100 rft		Job	1	7,754	7,754	
2.2	Earthing Copper Lead	2 SWG for Boring & Termination		Meter	35	458	16,013	
2.3	GI Pipe (Boring)	38mm dia		Meter	7	518	3,623	
2.4	Earhting Block	Dimension LXWXD - 200mm X 30mm X 4mm with connection facility		Pc	1	2,140	2,140	
2.5	Earthing Cable	1 X 10 rm BYA (Green) from Earthing Copper bar to gen & equipment		Meter	10	122	1,220	
2.6	Earthing Cable lugs	10 rm Material -Copper , Surface-Electro Tinned		Pcs	6	9	51	

3	Exhaust System:					-		
3.1	Exhaust Silencer straight Pipe	MS Pipe bore 3" ,thickness 3-4mm		Meter	3	1,849	5,548	
3.2	Exhaust Bends /Elbow	Long radius 90 deg L bow 3"		Pcs	2	776	1,551	
3.3	Reducer	2.5" by 3"		Pcs	1	494	494	
3.4	Socket	3" dia		Pcs	3	634	1,903	
3.5	Exhaust Heat Insulation	Insulation Of Pipe with Glasswool (25.4mm min thickness) along with 26SWG Aluminium sheet clading.		Job	1	3,075	3,075	
3.6	Exhasut Fitting	All bracket , support must be made with MS angle 50X50X 4, 5 & 6 MM		Job	1	2,094	2,094	
4	Commissioning Material:					ı		
4.1	Radiator coolant	Havoline Premix Coolent		Liter	10	171	1,714	
4.2	Lube oil	SAE 15 W 40		Liter	10	429	4,286	
4.3	Battery electrolyte	Specific gravity 1250		Liter	10	96	964	
4.4	Fuel	Diesel for test run (50% of Fuel tank)	CLIENT	Liter	45	-	-	
5	Cooling System:					-	1	
5.1	Radiator Ducting	As per layout with 22 SWG MS sheet, Angle bar, flat bar support, Canvas cloth, Iron mesh etc WxH- 2' x 1.5', L- 8'		Sq-ft	56	281	15,720	HOT AIR EXIT- TOP EXIT
6	DG On site delivery:					-		
6.1	Loading /Unloading/Lifting	Generator dry weight-1500 Kg	CWPL	Job	N/A	-		Done
7	CIVIL WORK:					-		
7.1	DG Base for 30kVA DG	Base dimension LXW(ft)=7'10"x3'8", Depth, D- 2" CC with NCF.	CLIENT	Job	N/A	-	-	Done
	TOTAL TK (Excluding VAT & AIT						108,744	

Special discount (-)
Net price without VAT/TAX
Net price with VAT / TAX (15%)

(8,744)

100,000

115,000.00

In word: One lac fifteen thousnad only.

Md. Moshiur Rahman AGM, Sales